Roll No:-
Sem-I111 Diploma Exam 2023 (Odd)
[Time: 3 Hours] (C.S.E) (Theory) [Max. Marks: 70]
Computer Organization & Architecture (2018303)

- All questions are compulsory. (ﬂlﬁ 1K) a{ﬁaﬁ% )
- Marks are mentioned on the right side of each question. (3 T Uy & T8 3R &mﬁv_aél)

Group (A) (YU -¥§)

Q.1  Choose the most suitable answer from the following options. (1*20=20)

U fawey w1 g ford)): -

i. Cache memory acts between

(S HARY forads g S HRaT g)
(a) CPU and RAM (10T g Td¥H ) (c) CPU and Hard disk (3.0t g U gTefe® )
(b) RAM and ROM (¥ T4 3 ) (d) None of these (378 I 13 -Tg1 )

ii. Interrupts initiated by an instruction is called as

ERP S Yo BRI L= BT g SU R HEA 7 )

(@) Internal (<X-cT ) (c) Hardware (E'Iéa?ﬂ )
(b) External (Tae3Ad ) (d) Software (FTEdTR)
iii.  In computers subtraction is generally carried out by ------
(@Hex H UeTd foryg ufshar 9 gia 82)
(a) 9° s complement (b)10’s complement (c)1’s complement (d) 2’s complement
(9> s PIHC ) (10°s PIHC ) (1’s HRAHE ) (2’s P )
iv. Generally Dynamic RAM is used as main memory in a computer system as it -----

(HeR Red & SEAH® RAM &1 SXHTA SHHAR IR A HHRI &1 a8 gidT ¢ i )

(a) Consumes less power (b) Has higher speed (c) Has lower cell density (d) Needs refreshing circuitry

(TEFHUTRTIIRATE) QAR TA DA E) QA TIdBABAI )  (RIBRIT Afhe 1 SRed 811 8)

V. The DMA transfer is initiated by .
(ST T TBHER & YLHaTd B HRAT 8 )

(a) Processor (Eﬁ@ﬂ?) (b) The process (En@ﬂ) (c)I/O devices (1/0 {?[ﬁ[) (d) OS (&FTCI%%T m

vi.  Which of the following flip —flops is used for counter?

afeiad & T frg fbfery —wiTy o1 IuainT Hrd—x & U g 8)

(@) JK flip-flop (b)T flip-flop (c) SR flip —flop (d) D flip —flop
Vil, - iga multi purpose register
G I DI I Ao IRUS IR | 2)
(@) AC (b) PC (c)sp (d) DR
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viii.  Another name for a multiplexer is (AeCTATR BT GERTAH )

(a) A data selector (b) A bus transceiver (c) A shift register (d) A data distributor
BRERS) @G TR ) (o Ioreer ) (SalfeesgR)
IX.  —mmmmmmmeeee- bus structure is usually used to connect 1/O devices

(----- TR DI Ak 1/0 Ffaqal DI Hide HR & [ ST BT § )
(a)Single bus (ﬁl"'l?faﬂ) (b)Multiple bus (II%CI?[W (c) Star bus (¥R d9¥) (d) Ram bus &HW )

X.  DMA stands for (ODMA BT RIS )
(a) Direct Memory Address  (b)Direct Main Address (c) Direct Memory Access (d) Device Memory Access

ORI TSy ) CEGC T Tg9 ) (SHAGC HURI TR )  (fSarsy AUR TR )

Xi. After reset CPU begins execution of instruction from memory address
(e & 91 CPU SR &1 TR frg AR} Tea A Rl g )
(@) 0101y (0)80004 (c) 00004 (d) FFFFy

xii. ~ When an instruction is read from the memory it is called

(19 TS SR AURT I UGT II1dT § HEaAN g )

(a) Memory read cycle (b)Fetch cycle (c)Instruction cycle (d) Memory write cycle
@RI S Iadd ) CEERETD) (SEHTH IS ) (FHRI T3¢ IAH )
xiii. A group of bits that tell the computer to perform a specific operation is known as

(e &1 IHg S HHHR B [ARIE S Hal 8 34 T Hed § )
(@) Instruction code (b) Micro operation (c) Accumulator (d)Register
GEREIS) (TSI SHTORT ) (AR ) (IR )

xiv.  Inasystem which has 32 register the register id is ----long

(P R d s RIPRR & B‘IWWIDWWW)

(a)16 bits (16 fae) (b) 8 bits (8 fare) () 5 bits (5fa@) (d) 6 bits (6fa)
XV.  Memory unit accessed by content is called (ﬁ'ﬁhﬁ\?ﬁ HcT GRI QQQH gl %)
(a) ROM (b) Programmable Memory (c) Virtual memory (d) Associative memory
) (I3 TARY ) (CERadid 7R

xvi.  The addressing mode which uses the PC instead of a general purpose register is

(I8 TSR AYS S W= IFORER &1 578 PC YA HdT ] )

(a) Indexed with offset (b) Relative (c)Direct (d) Both b and c

(309 Apae afed)  (Rafed ) (SR ) (§Td FEHT)

xvii.  The DMA controller has ----registers
(DMA FgieR H fara IPoReR 8)
(a) 4 (b)2 (c)3 d1

xviii. The addressing mode where address of DATA is stored in CPU register?

(T8 TSR AYS STeT S1e1 &1 Tgy 1 Ut g Iforex # AiNg BT g)
(a)Register direct (b)Register indirect (c)Immediate (d)None of these

SR ) APRR FT SR ) (ZHISINE ) ETH AP TR )
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XiX.

(a) ALU

XX.

(PAL

Q.2

Q.3

Q4

Q.5

Q.6

Which of the following is responsible for co-ordinating various operations using timing signals?

(T8 A PIF ITRER Bid1 &, fafte Bl & fore o g Rzt W s¥ame el © )

(b) CU (c) Input unit ( 379 (AT

(d) Output unit ( 3T3TYC gfT )

Which logic is known as universal logic (Eﬁﬁﬁqmamgﬁaﬁaaﬁaﬁé)
(a)PAL logic (b)NAND logic (c) MUX logic (d) Decoder logic

(NAND dfoid) (MUX

Group (B) (YU Eﬁ)

(Decoder QIToT)

What are advantage of assembly language? How is it different from high —level language?

(T IS U & ATH 7 82 8T dd oidsl I I8 & i )

OR (31YdT)

Compare horizontal and vertical organization

@RISId U4 afchd THISOIRM DI o HX)

Give the flow chart for add subtract operation of two signed 2’s complement data

(@ 1578 2’s HHHC ST P! Siie- Td ge & Ufehdr &1 Ul are I g=Ii)

OR (31dT)

What do you mean by software and hardware interrupts? How these are used in a microprocessor

system

(ATICATR Ud BTSATR ¥ U 1Y &1 UL 8?2 AR TR Ried H 98 HY ol a1 ol § )

Discuss about memory mapped 1/0

IR A o P AT B )
OR (31YdT)

Differentiate between SRAM an_d DRAM
(SRAM Td DRAM H 3R §d13)

Discuss about associative memory in brief
(O AR &1 Gieed & == & )
OR (31YdT)

What do you mean by locality of reference

(@Bt 3Tt Yha | 31T T THd 21 )

Discuss about special gate in brief?

(fafRry e ot Wt o ==t ay )
OR (374

Draw and explain the multiplexes in brief?

(ACIIARR &1 §-T¢ U9 HaT H SReA $Y )
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Group (C) (gq#l)

Q.7 Describe the data transfer method using DMA.C
(DMA &1 UGG J SIeT TR Toheileh Bl qui- o)

OR (31dT)

What do you mean by virtual memory? Discuss how paging helps in implementing virtual memory.

gﬁqﬁ?ﬁﬁﬁ@r 3T T GHLd 8, Ui forg U R swreufies AHRY &1 WA 63dl § 39! T=
)

Q.8 Explain the internal architecture of 80§5 processor with a neat block diagram.
(AT b 3G 8085 YRR P 3exd HTfchcdaR &l ATST B )
OR (31Yd)
Explain any four addressing modes with example.
(ol IR TSR HAIS BT TG0 ARAT HY )
Q.9 Explain the Booth’s algorithm for multiplication of two signal number with examples?
(TS GBS & Y SANRGH &b [UHH 99 B 3T 01 Higd SARSAT B )
OR (31Yd)

What is Interrupt? Explain different types of Interrupt signal in brief?

(Ser 1§ 2 faft TR & Sep Riwrel) &t dférd § saren Y )

Q.10 Consider thestring 1,3,2,4,2,1,5,1,3,2,6,7,5,4,3,2,4,2,3,1, 4,
Find the page faults for 3 frames using FIFO and LRU
(CIT1,3,2,4,2,1,5,1,3,2,6,7,5,4,3,2,4,2,3,1,4 & [T FIFO 94T LRU 3ARGH GRT A
lee JAd DY )

OR (31YdI)
Discuss the replacement algorithm for cache memory?
(P AR B Nueade siailen &) =i &)
Q.11 Explain the various types of addressing mods in detail?
(A UhR & TSR OIS i fawgd AR Y )
OR (31YdI)

What do you mean by DMA? Explain the step for DMA transfer technique.
(DMA ¥ 310 F7 JHIIA & ? DMA TR ddh-1d & LUl &1 faarur )
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